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T-9-Q1 987-175
Besides yielding such psychological rewards as relief from stress, deep relaxation, if practiced regularly, can strengthen the immune system and produce a host of other physiological benefits.
A. deep relaxation, if practiced regularly, can strengthen the immune system

B. one can strengthen the immune system through deep relaxation, if it is practiced regularly

C. the immune system can be strengthened as a result of deep relaxation if practiced regularly

D. when deep relaxation is practiced regularly, the immune system can be strengthened

E. when practiced regularly, the results of deep relaxation can be to strengthen the immune system

T-9-Q2 

Kernland imposes a high tariff on the export of unprocessed cashew nuts in order to ensure that the nuts are sold to domestic processing plants. If the tariff were lifted and unprocessed cashew were sold at world market prices, more farmers could profit by growing cashews. However, since all the processing plants are in urban areas, removing the tariff would seriously hamper the government‘s effort to reduce urban unemployment over the next five years.

Which of the following, if true, most seriously weakens the argument?

A. Some of the by-products of processing cashews are used for manufacturing plants and plastics

B. Other countries in which cashews are processed subsidize their processing plants

C. More people in kernland are engaged in farming cashews than in processing them

D. Buying unprocessed cashews at lower than world market prices enables cashew processors in kernland to sell processed nuts at competitive prices

E. A lack of profitable crops is driving an increasing number of small farmers in kernland off their land and into the cities

T-9-Q3

Business Consultant: some corporations shun the use of executive titles because they fear that the use of titles indicating position in the corporation tends to inhibit communication up and down the corporate hierarchy. Since an executive who uses a title is treated with more respect by outsiders, however, use of a title can facilitate an executive’s dealings with external businesses. The obvious compromise is for these executives to use their corporate titles externally but not internally, since even if it is widely known that the corporation’s executives use executive titles outside their organization, this knowledge does not by itself inhibit communication within the corporation.

In the consultant’s reasoning, the two portions in boldface play which of the following roles?

A. The first presents an obstacle to achieving a certain goal; the second presents a reason for considering that goal to be undesirable.

B. The first is a consideration that has led to the adoption of a certain strategy; the second presents a reason against adopting that strategy.
C. The first describes a concern that the consultant dismisses as insignificant; the second is a consideration that serves as the basis for that dismissal.

D. The first is a belief for which the consultant offers support; the second is part of that support.

E. The first is a belief against which evidence is offered; the second is part of the evidence offered against that belief.

T-9-Q4 

In the years following an eight-cent increase in the federal tax on a pack of cigarettes, sales of cigarettes fell ten percent. In contrast, in the year prior to the tax increase, sales had fallen one percent. The volume of cigarette sales is therefore strongly related to the after-tax price of a pack of cigarettes.

The argument above requires which of the following assumptions?

A. During the year following the tax increase, the pretax price of a pack of cigarettes did not increase by as much as it had during the year prior to the tax increase.

B. The one percent fall in cigarette sales in the year prior to tax increases was due to a smaller tax increase.

C. The pretax price of a pack of cigarettes gradually decreased throughout the year before and the year after the tax increase.

D. For the year following the tax increase, the pretax price of a pack of cigarettes was not eight or more cents lower than it had been the previous year.

E. As the after-tax price of a pack of cigarettes rises, the pretax price also rises.

T-9-Q5-Q7
     In American Genesis, which covers the century of technological innovation in the United States beginning in 1876, Thomas Hughes assigns special prominence to Thomas Edison as archetype of the independent nineteenth-century inventor. However, Hughes virtually ignores Edison’s famous contemporary and notorious adversary in the field of electric light and power, George Westinghouse. This comparative neglect of Westinghouse is consistent with other recent historians’ works, although it marks an intriguing departure from the prevailing view during the inventors’ lifetimes (and for decades afterward) of Edison and Westinghouse as the two “pioneer innovators ” of the electrical industry.

My recent reevaluation of Westin-house, facilitated by materials found in railroad archives, suggests that while Westinghouse and Edison shared important traits as inventors, they differed markedly in their approach to the business aspects of innovation. For Edison as an inventor, novelty was always paramount: the overriding goal of the business of innovation was simply to generate funding for new inventions. Edison therefore undertook just enough sales, product development, and manufacturing to accomplish this. Westinghouse, however, shared the attitudes of the railroads and other industries for whom he developed innovations: product development standardization, system and order were top priorities. Westinghouse thus better exemplifies the systematic approach to technological development that would become a hallmark of modern corporate research and development.


T-9-Q5

The primary purpose of the passage is to 
A. reevaluate a controversial theory

B. identify the flaws in a study

C. propose a new method of historical research

D. compare two contrasting analyses

E. provide a fresh perspective

T-9-Q6

According to the passage, Edison’s chief concern as an inventor was the
A. availability of a commercial market

B. costs of developing a prototype

C. originality of his inventions

D. maintenance of high standards throughout production

E. generation of enough profits to pay for continued marketing

T-9-Q7

The author of the passage implies that the shift away from the views of Westinghouse’s contemporaries should be regarded as
A. a natural outgrowth of the recent revival of interest in Edison

B. a result of scholarship based on previously unknown documents

C. reflective of modern neglect of the views of previous generations

D. inevitable, given the changing trends in historical interpretations

E. surprising, given the stature that Westinghouse once had

T-9-Q8.

A sudden increase in the production of elephant ivory artifacts on the Mediterranean coast of North Africa occurred in the tenth century. Historians explain this increase as the result of an area opening up as a new source of ivory and argue on this basis that the important medieval trade between North Africa and East Africa began at this period.

Each of the following, if true, provides some support for the historians’ account described above EXCEPT?

A. In East Africa gold coins from Mediterranean North Africa have been found at a tenth-century but at no earlier sites.

B. The many surviving letters of pre-tenth-century North African merchants include no mention of business transactions involving East Africa.

C. Excavations in East Africa reveal a tenth-century change in architectural style to reflect North African patterns.

D. Documents from Mediterranean Europe and North Africa that date back earlier than the tenth century show knowledge of East African animals. 

E. East African carvings in a style characteristic of the tenth century depict seagoing vessels very different from those used by local sailors but of a type common in the Mediterranean.

T-9-Q9-Q12
   Ecoefficiency (measures to minimize environmental impact through the reduction or elimination of waste from production processes) has become a goal for companies worldwide, with many realizing significant cost savings from such innovations. Peter Senge and Goran Carstedt see this development as laudable but suggest that simply adopting ecoefficiency innovations could actually worsen environmental stresses in the future. Such innovations reduce production waste but do not alter the number of products manufactured nor the waste generated from their use and discard; indeed, most companies invest in ecoefficiency improvements in order to increase profits and growth. Moreover, there is no guarantee that increased economic growth from ecoefficiency will come in similarly ecoefficient ways, since in today’s global markets, greater profits may be turned into investment capital that could easily be reinvested in old-style eco-inefficient industries. Even a vastly more ecoefficient industrial system could, were it to grow much larger, generate more total waste and destroy more habitat and species than would a smaller, less ecoefficient economy. Senge and Carstedt argue that to preserve the global environment and sustain economic growth, businesses must develop a new systemic approach that reduces total material use and total accumulated waste. Focusing exclusively on ecoefficiency, which offers a compelling business case according to established thinking, may distract companies from pursuing radically different products and business models.

T-9-Q9

The primary purpose of the passage is to
A. explain why a particular business strategy has been less successful than was once anticipated

B. propose an alternative to a particular business strategy that has inadvertently caused ecological damage

C. present a concern about the possible consequences of pursuing a particular business strategy

D. make a case for applying a particular business strategy on a larger scale than is currently practiced

E. suggest several possible outcomes of companies’ failure to understand the economic impact of a particular business strategy

T-9-Q10
According to the passage, an exclusive pursuit of ecoefficiency may cause companies to
A. neglect the development of alternative business models and products

B. keep the number of products that they manufacture unchanged

C. invest capital from increased profits primarily in inefficient and outmoded industries that may prove unprofitable

D. overemphasize the production process as the key to increasing profits and growth

E. focus more on reducing costs than on reducing the environmental impact of production processes

T-9-Q11

The passage mentions which of the following as a possible consequence of companies’ realization of greater profits through ecoefficiency?
A. The companies may be able to sell a greater number of products by lowering prices.
B. The companies may be better able to attract investment capital in the global market.

C. The profits may be reinvested to increase economic growth through ecoefficiency.

D. The profits may be used as investment capital for industries that are not ecoefficient.

E. The profits may encourage companies to make further innovations in reducing production waste.



T-9-Q12

The passage implies that which of the following is a possible consequence of a company’s adoption of innovations that increase its ecoefficiency?
A. Company profits resulting from such innovations may be reinvested in that company with no guarantee that the company will continue to make further improvements in ecoefficiency.

B. Company growth fostered by cost savings from such innovations may allow that company to manufacture a greater number of products that will be used and discarded, thus worsening environmental stress.

C. A company that fails to realize significant cost savings from such innovations may have little incentive to continue to minimize the environmental impact of its production processes.

D. A company that comes to depend on such innovations to increase its profits and growth may be vulnerable in the global market to competition from old-style ecoinefficient industries.

E. A company that meets its ecoefficiency goals is unlikely to invest its increased profits in the development of new and innovative ecoefficiency measures.
T-9-Q13. 987-184
Building large new hospitals in the bistate area would constitute a wasteful use of resources, on the basis of avoidance of duplicated facilities alone.
A. on the basis of avoidance of duplicated facilities alone
B. on the grounds of avoiding duplicated facilities alone
C. solely in that duplicated facilities should be avoided
D. while the duplication of facilities should be avoided
E. if only because the duplication of facilities should be avoided
T-9-Q14. GWD-13-40
In response to viral infection, the immune systems of mice typically produce antibodies that destroy the virus by binding to proteins on its surface.  Mice infected with a herpesvirus generally develop keratitis, a degenerative disease affecting part of the eye.  Since proteins on the surface of cells in this part of the eye closely resemble those on the herpesvirus surface, scientists hypothesize that these cases of keratitis are caused by antibodies to herpesvirus.

Which of the following, if true, gives the greatest additional support to the scientists’ hypothesis?

A. Other types of virus have surface proteins that closely resemble proteins found in various organs of mice.

B. There are mice that are unable to form antibodies in response to herpes infections, and these mice contract herpes at roughly the same rate as other mice.

C. Mice that are infected with a herpesvirus but do not develop keratitis produce as many antibodies as infected mice that do develop keratitis.

D. There are mice that are unable to form antibodies in response to herpes infections, and these mice survive these infections without ever developing keratitis.

E. Mice that have never been infected with a herpesvirus can sometimes develop keratitis.

T-9-Q15. 

The commission’s office of compliance, inspection, and investigations plans to intensify its security of stock analysts to investigate not only whether research is an independent function at brokerage firms, but also whether conflicts results when analysts own the stocks they write about or when they are paid for their work by a firm’s investment banking division.

A. to investigate not only whether research is an independent function at brokerage firms, but also whether conflicts results when analysts own the stocks they write about or when they are paid

B. to investigate not only whether research is an independent function at brokerage firms, but also if conflicts results when analysts own the stocks they write about or they are

C. to not only investigate whether or not research is an independent function at brokerage firms, but also if conflicts results when analysts own the stocks they write about or are 

D. not only to investigate whether or not research is an independent function at brokerage firms, but also whether conflicts result when analysts own the stocks they write about or are

E. not only to investigate whether research is an independent function at brokerage firms, but also whether conflicts result when analysts own the stocks they write about or when

T-9-Q16. 

The nineteenth-century chemist Humphry Davy presented the results of his early experiments in his “Essay on Heat and Light,” a critique of all chemistry since Robert Boyle as well as a vision of a new chemistry that Davy hoped to found.

A. a critique of all chemistry since Robert Boyle as well as a vision of a 

B. a critique of all chemistry following Robert Boyle and also his envisioning of a 

C. a critique of all chemistry after Robert Boyle and envisioning as well

D. critiquing all chemistry from Robert Boyle forward and also a vision of 

E. critiquing all the chemistry done since Robert Boyle as well as his own envisioning of 

T-9-Q17. 

Several financial officers of the company spoke on condition that they not be named in the press reports.

A. that they not be named 

B. that their names will not be used

C. that their names are not used

D. of not having their names 

E. of not naming them

T-9-Q18. 

The growing popularity of computer-based activities was widely expected to result in a decline in television viewing, since it had been assumed that people lack sufficient free time to maintain current television-viewing levels while spending increasing amounts of free time on the computer. That assumption, however, is evidently false: in a recent mail survey concerning media use, a very large majority of respondents who report increasing time spent per week using computer report no change in time spent watching television.

Which of the following would be most useful to determine in order to evaluate the argument?

A. Whether a large majority of the survey respondents reported watching television regularly

B. Whether the amount of time spent watching television is declining among people who report that they rarely or never use computers

C. Whether the type of television programs a person watches tends to changes as the amount of time spent per week using computer increases

D. Whether a large majority of the computer owners in the survey reported spending increasing amounts of time per week using computers

E. Whether the survey respondents’ reports of time spent using computers included time spent using computers at work.

T-9-Q19. TS-7-11
In 1992 outlaw fishing boats began illegally harvesting lobsters from the territorial waters of the country of Belukia. Soon after, the annual tonnage of lobster legally harvested in Belukian waters began declining; in 1996, despite there being no reduction in the level of legal lobster fishing activity, the local catch was 9,000 tons below pre-1992 levels. It is therefore highly likely that the outlaw fishing boats harvested about 9,000 tons of lobster illegally that year.

Which of the following is an assumption on which the argument depends?

A. The illegal lobster harvesting was not so extensive that the population of catchable lobsters in Belukia’s territorial waters had sharply declined by 1996

B. The average annual lobster catch, in tons, of an outlaw fishing boat is has increased steadily since 1992.

C. Outlaw fishing boats do not, as a group, harvest more lobsters than do licensed lobster-fishing boats.

D. The annual legal lobster harvest in Belukia in 1996 was not significantly less than 9,000 tons.

E. A significant proportion of Belukia’s operators of licensed lobster-fishing boats were out of business between 1992 and 1996

T-9-Q20-Q23：GWD-13-34~37
      A small number of the forest species of lepidoptera (moths and butterflies, which exist as caterpillars during most of their life cycle) exhibit regularly recurring patterns of population growth and decline—such fluctuations in population are known as population cycles.  Although many different variables influence population levels, a regular pattern such as a population cycle seems to imply a dominant, driving force.  Identification of that driving force, however, has proved surprisingly elusive despite considerable research. The common approach of studying causes of population cycles by measuring the mortality caused by different agents, such as predatory birds or parasites, has been unproductive in the case of lepidoptera.  Moreover, population ecologists’ attempts to alter cycles by changing the caterpillars’ habitat and by reducing caterpillar (25) populations have not succeeded. In short, the evidence implies that these insect populations, if not self-regulating, may at least be regulated by an agent more intimately connected with the insect than are predatory birds or parasites. (30)
      Recent work suggests that this agent may be a virus.  For many years, viral disease had been reported in declining populations of caterpillars, but population ecologists had usually considered viral disease to have contributed to the decline once it was underway rather than to have initiated it. The recent work has been made possible by new techniques of molecular biology that allow viral DNA to be detected at low concentrations in the environment.  Nuclear polyhedrosis viruses are hypothesized to be the driving force behind population cycles in lepidoptera in part because the viruses themselves follow an infectious cycle in which, if protected from direct sun light, they may remain virulent for many years in the environment, embedded in durable crystals of polyhedrin protein. Once ingested by a caterpillar, the crystals dissolve, releasing the virus to infect the insect’s cells. Late in the course of the infection, millions of new virus particles are formed and enclosed in polyhedron crystals. These crystals reenter the environment after the insect dies and decomposes, thus becoming available to infect other caterpillars.

      One of the attractions of this hypothesis is its broad applicability. Remarkably, despite significant differences in habitat and behavior, many species of lepidoptera have population cycles of similar length, between eight and eleven years.  Nuclear polyhedrosis viral infection is one factor these disparate species share.

---------------------------------------------------------------

T-9-20:GWD-13-34:

Which of the following, if true, would most weaken the author’s conclusion in lines 25-30?

A. New research reveals that the number of species of birds and parasites that prey on lepidoptera has dropped significantly in recent years.

B. New experiments in which the habitats of lepidoptera are altered in previously untried ways result in the shortening of lepidoptera population cycles.

C. Recent experiments have revealed that the nuclear polyhedrosis virus is present in a number of predators and parasites of lepidoptera.

D. Differences among the habitats of lepidoptera species make it difficult to assess the effects of weather on lepidoptera population cycles.

E. Viral disease is typically observed in a large proportion of the lepidoptera population.

--------------------------------------------------------------------

T-9-21:GWD-13-35:

It can be inferred from the passage that the mortality caused by agents such as predatory birds or parasites was measured in an attempt to

A. develop an explanation for the existence of lepidoptera population cycles

B. identify behavioral factors in lepidoptera that affect survival rates

C. identify possible methods for controlling lepidoptera population growth

D. provide evidence that lepidoptera populations are self-regulating

E. determine the life stages of lepidoptera at which mortality rates are highest

--------------------------------------------------------------------

T-9-22:GWD-13-36:

The primary purpose of the passage is to

A. describe the development of new techniques that may help to determine the driving force behind population cycles in Lepidoptera
B. present evidence that refutes a particular theory about the driving force behind population cycles in Lepidoptera
C. 

present a hypothesis about the driving force behind population cycles in Lepidoptera
D. describe the fluctuating patterns of population cycles in Lepidoptera
E. question the idea that a single driving force is behind population cycles in Lepidoptera

--------------------------------------------------------------------

T-9-23:GWD-13-37:

According to the passage, before the discovery of new techniques for detecting viral DNA, population ecologists believed that viral diseases

A. were not widely prevalent among insect populations generally

B. affected only the caterpillar life stage of lepidoptera

C. were the driving force behind lepidoptera population cycles

D. attacked already declining caterpillar populations

E. infected birds and parasites that prey on various species of lepidoptera

T-9-Q24. 987-304
For many people, household labor remains demanding even if able to afford household appliances their grandparents would find a miracle.
A. even if able to afford household appliances their grandparents would find a miracle

B. despite being able to afford household appliances their grandparents would find a miracle

C. even if they can afford household appliances their grandparents would have found miraculous

D. although they could afford household appliances their grandparents would find miraculous

E. even if they are able to afford household appliances which would have been a miracle to their grandparents
T-9-Q25. 

Scientists typically do their most creative work before the age of forty. It is commonly thought that this happens because aging by itself brings about a loss of creative capacity. However, a study has found that almost all scientists who produce highly creative work beyond the age of forty entered their fields late and less than a dozen years before their creative breakthroughs. Since creative breakthroughs by scientists under forty also generally occur within a dozen years of the scientists’ entry into the field, the study’s finding strongly suggests that the real reason why scientists over forty rarely produce highly creative work is not due to age but rather because most have spent too long in their fields.

In the argument given, the two portions in boldface play which of the following roles?

A. The first is the position that the argument as a whole depends; the second is evidence that is advanced as part of that evidence.

B. The first and second are both claims that have been advanced in support of a position that the argument as a whole opposes.

C. The first is an explanation that the argument challenges; the second provides evidence in support of a competing explanation that the argument defends.

D. The first is an explanation that the argument challenges; the second is evidence that has been used against an alternative explanation that the argument defends.

E. The first is an explanation that the argument defends; the second is evidence that has been used to challenge that explanation.

T-9-Q26. 

There are several ways to build solid walls using just mud or clay, but the most extensively used method has been the forming of bricks out of mud or clay, and, after some preliminary air drying or sun drying, they are laid in the wall in mud mortar.

A. the forming of bricks out of mud or clay, and, after some preliminary air drying or sun drying, they are laid

B. forming the mud or clay into bricks, and, after some preliminary air drying or sun drying, to lay them

C. having bricks formed from mud or clay, and after some preliminary air drying or sun drying , they were laid

D. to form the mud or clay into bricks, and , after some preliminary air drying or sun drying, to lay them

E. that bricks were formed from mud or clay, which, after some preliminary airy drying or sun drying, were laid

T-9-Q27. 大全987-606
Research during the past several decades on the nature of language and the processes that produce and make it understandable has revealed great complexity instead of underlying simplicity.
A. that produce and make it understandable has revealed great complexity instead of underlying simplicity

B. of producing and understanding it have revealed not underlying simplicity but great complexity

C. by which it is produced and understood has revealed not underlying simplicity but great complexity

D. by which it is produced and understood have revealed great complexity rather than underlying simplicity
E. by which one produces and understands it have revealed great complexity instead of underlying simplicity
T-9-Q28. 天山-7-13
Lyme disease is caused by a bacterium transmitted to humans by deer ticks. Generally deer ticks pick up the bacterium while in the larval stage from feeding on infected white-footed mice. However, certain other species on which the larvae feed do not harbor the bacterium. Therefore, if the population of these other species were increased, the number of ticks acquiring the bacterium and hence the number of people contracting Lyme disease would likely decline.

Which of the following, if true, most strengthens the argument?

A. Ticks do not suffer any adverse consequences from carrying the bacterium that causes Lyme disease in humans.

B. There are no known cases of a human’s contracting Lyme disease through contact with white-footed mice.

C. A deer tick feeds only once while in the larval stage.

D. A single host animal can be the source of bacterium for many tick larvae.

E. None of the other species on which deer tick larvae feed harbor other bacteria that ticks transmit to humans

T-9-Q29. 987-637
Several studies have found that the coronary patients who exercise most actively have half or less than half the chance of dying of a heart attack as those who are sedentary.
A. have half or less than half the chance of dying of a heart attack as those who are sedentary

B. have half the chance, or less, of dying of a heart attack than those who are sedentary do

C. have half the chance that they will die of a heart attack, or less, than those who are sedentary do

D. are at least fifty percent less likely to die of a heart attack as those who are sedentary

E. are at least fifty percent less likely than those who are sedentary to die of a heart attack

T-9-Q30. 

The percentage of households with an annual income of more than $40,000 is higher in Merton county than in any other county. However, the percentage of households with an annual income of $60,000 or more is highest in Sommer county.

If the statements above are true, which of the following can properly be concluded on the basis of them?

A. No households in Merton county has an annul income of $60,000 or more

B. Some households in Merton county have an annual income between $40,000 and $60,000

C. The number of households with an annual income of more than $40,000 is greater in Merton than in Sommer county.

D. Average annual household income is higher in Sommer than in Merton county.

E. The percentage of households with an annual income of $80,000 is higher in Sommer than in Merton county.

T-9-Q31. 

Scholars who once thought Native American Meratures were solely oral narratives recorded by missionaries of anthropologists now understand this body of work to consist of both oral Meratures and the written works of Native American authors, who have been publishing since 1772.

A. Scholars who once thought Native American Meratures were solely oral narratives

B. Scholars thinking of Native American Meratures once solely as oral narratives, and

C. Scholars who once had thought of Native American Meratures solely as oral narratives and 

D. Native American Meratures, which some scholars once thought were solely oral narratives

E. Native American Meratures, which some scholars once, thinking they were solely oral narratives

T-9-Q32. 

Ecologists: the Scottish Highlands were once the site of extensive forests, but these forests have mostly disappeared and been replaced by peat bogs. The common view is that the Highland’s deforestation was caused by human activity, especially agriculture. However, agriculture began in the Highlands less than 2,000 years ago. Peat bogs, which consist of compressed decayed vegetable matter, build up by only about one foot per 1000 years, and, throughout the Highlands, remains of trees in peat bogs are almost all at depth great than four feet. Since climate changes that occurred between 7,000 years and 4,000 years ago favored the development of peat bogs rather than the survival of forests, the deforestation was more likely the result of natural processes than of human activity.

In the ecologist’s argument, the two portions in boldfaces play which of the following roles?

A. The first is evidence that has been used in support of a position that the argument rejects; the second is a finding that the ecologist uses to counter the evidence.

B. The first is evidence that, in light of the evidence provided in the second, serves as grounds for the ecologist’s rejection of a certain position

C. The first is a position that the ecologist rejects; the second is evidence that has been used in support of that position.

D. The first is a position that the ecologist rejects; the second provides evidence in support of that rejection.

E. The first is a position for which the ecologist argues; the second provides evidence to support that position.

T-9-Q33. 

Which of the following, if true, most logically completes the passage?

A recent poll found that over 80 percent of the residents of Nalmed Province favored a massive expansion of the commuter rail system as a means of significantly easing congestion on the province’s highways and were willing to help pay for the expansion through an increase in their taxes. Nevertheless, the poll results indicate that expansion of the rail system, if successfully completed, would be unlikely to achieve its goal of easing congestion, because       .

A. most of people in favor of expanding the rail system reported less congestion during their highway commute as the primary benefit they would experience.

B. of the less than 20 percent of residents not counted as favoring the expansion, about half claimed to have no opinion one way or the other.

C. the twice-daily periods of peak congestion caused by people commuting in cars have grown from about an hour each to almost two and a half hours each in the past 20 years.

D. expanding the commuter rail system will require the construction of dozens of miles of new railroads.

E. the proposed expansion to the commuter rail system will make it possible for some people who both live and work at suburban locations to commute by rail.

T-9-Q34. 

Just like the background in art history needed by an archaeologist in order to evaluate finds of ancient art, the nautical archaeologist needs specialized knowledge of the history and theory of ship design in order to understand shipwrecks.

A. just like the background in art history needed by an archaeologist in order to evaluate finds of ancient art, the

B. just as an archaeologist who needs a background in art history to evaluate finds of ancient art, a

C. just as an archaeologist needs a background in art history to evaluate finds of ancient art, so a 

D. like the archaeologist who evaluate finds of ancient art history and requires a background in art history ,so the 

E. as evaluating finds of ancient art requires an archaeologist who has a background in art history, so the

T-9-Q35-Q37

For many years, historians thought that the development of capitalism had not faced serious challenges in the United States. Writing in the early twentieth century, Progressive historians sympathized with the battles waged by farmers and small producers against large capitalists in the late nineteenth century, but they did not question the widespread acceptance of laissez-faire (unregulated) capitalism throughout American history. Similarly, Louis Hartz, who sometimes disagreed with the Progressives, argued that Americans accepted laissez-faire capitalism without challenge because they lacked a feudal, precaptialist past. Recently, however, some scholars have argued that even though laissez-faire became the prevailing ethos in nineteen-century America, it was not accepted without struggle. Laissez-faire capitalism, they suggest, clashed with existing religious and communitarian norms that imposed moral constraints on acquisitiveness to protect the weak from the predatory, the strong from corruption, and the entire culture from materialist excess. Buttressed by mercantilist notions that government should be both regulator and promoter of economic activity, these norms persisted long after the American Revolution helped unleash the economic forces that produced capitalism. These scholars argue that even in the late nineteenth century, with the government’s role in the economy considerably diminished, laissez-faire had not triumphed completely. Hard times continued to revive popular demands for regulating business and softening the harsh edges of laissez-faire capitalism.

T-9-Q35

The primary purpose of the passage is to
A. reveal the underlying similarities of certain arguments regarding the development of capitalism in the United States

B. synthesize two competing arguments regarding the development of capitalism in the United States

C. defend an established argument regarding the development of capitalism in the United States

D. summarize a scholarly refutation of an argument regarding the development of capitalism in the United States

E. discuss a new methodology for the study of the development of capitalism in the United States

T-9-Q36

According to the passage, the Progressive historians mentioned in line 5 and the scholars mentioned in line 17 disagree with regard to which of the following?
A. Whether laissez-faire became the predominant ethos in the nineteenth-century United States

B. Whether moral restraints on acquisitiveness were necessary in the nineteen-century United States

C. The economic utility of mercantilist notions of government

D. The nature of the historical conditions necessary for the development of laissez-faire capitalism in the nineteen-century United States

E. The existence of significant opposition to the development of laissez-faire capitalism in the nineteen-century United States
T-9-Q37

The passage suggests that the scholars mentioned in line 17 would agree with which of the following statements regarding the “norms” mentioned in line 23?
A. They provided a primary source of opposition to the development of laissez-faire capitalism in the United States in the nineteenth century.

B. Their appeal was undermined by difficult economic times in the United States at the end of the nineteenth century.

C. They disappeared in the United States in the late nineteenth century because of the triumph of laissez-faire capitalism.

D. 

They facilitated the successful implementation of mercantilist notions of government in the United States in the nineteenth-century
E. They are now recognized by historians as having been an important part of the ideology of the American Revolution.

T-9-Q38. 

The globalization of financial-services companies has been a boon to money launders, because of allowing money placed in a bank in a less regulated jurisdiction to be transferred to a branch in a more regulated one.

A. of allowing money placed in a bank in a less regulated jurisdiction to be transferred
B. of allowing the transfer of money placed in a bank in a less regulated jurisdiction

C. it allows that money placed in a bank in a less regulated jurisdiction is transferred

D. it allows the transfer of money have been placed in a bank in a less regulated jurisdiction

E. it allows money placed in a bank in a less regulated jurisdiction to be transferred

T-9-Q39. 987-675
Studies show that young people with higher-than-average blood pressure and their families have a history of high blood pressure are more likely than others to develop a severe form of the condition.
A. and their families have a history of high blood pressure

B. whose families have a history of high blood pressure

C. and a history of high blood pressure runs in the family

D. whose families have a history of high blood pressure running in them

E. with a history of high blood pressure running in their family

T-9-Q40. 

For most people, the left half of the brain controls linguistic capabilities, but some people have their language centers in the right half. When a language center of the brains is damaged, for example, by a stroke, linguistic capabilities are impaired in some way. Therefore, people who have suffered a serious stroke on the left side of the brain without suffering any such impairment must have their language centers in the right half.

Which of the following is an assumption on which the reasoning in the argument above depends?

A. No part of a person’s brain that is damaged by a stroke never recovers

B. Impairment of linguistic capabilities does not occur in people who have not suffered any damage to any language center of the brain.

C. Strokes tend to impair linguistic capabilities more severely than does any other cause of damage to language centers in the brain.

D. If there are language centers on the left side of the brain, any serious stroke affecting that side of the brain damages at least one of them.

E. It is impossible to determine which side of the brain contains a person’s language centers if the person has not suffered damage to either side of the brain.

T-9-Q41. 987-830
A. The spraying of pesticides can be carefully planned, but accidents, weather conditions that could not be foreseen, and pilot errors often cause much larger deposits of spray than they had anticipated.

B. weather conditions that could not be foreseen, and pilot errors often cause much larger deposits of spray than they had

C. weather conditions that cannot be foreseen, and pilot errors often cause much larger deposits of spray than

D. unforeseeable weather conditions, and pilot errors are the cause of much larger deposits of spray than they had

E. weather conditions that are not foreseeable, and pilot errors often cause much larger deposits of spray than

F. unforeseeable weather conditions, and pilot errors often cause much larger deposits of spray than they had
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